
1.8 - 31.8 - 3

Properties of Absolute Value

1. For 0,   if and only if  or .b a b a b a b> = = = −

2.  if and only if  or .a b a b a b= = = −

For any positive number b:
3.  if and only if .a b b a b< − < <

4.  if and only if  or .a b a b a b> < − >
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1.8 - 161.8 - 16

Example 4 SOLVING SPECIAL CASES OF 
ABSOLUTE VALUE EQUATIONS AND 
INEQULAITIES

Solve 

Solution  The absolute value of a number 
will be 0 only if that number is 0.  Therefore, 

5 15 0x + =c.

5 15 0x + = is equivalent to 5 15 0x + =

which has solution set {–3}.  Check by 
substituting into the original equation.
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